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4. The volume of the solid generated by revolving the region bounded by the curves
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5. The arc length of the curve y = g(ac2 + 1)3/ 2 from (0, %) to (1, #) is equal
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8. Using the shell method, the volume of the solid obtained by revolving the region
bounded by the curves z =4 — (y + 1)2, z = 0 about the line y = 2 is given by
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S 7.2 13. The base of a solid is the region bounded by the curves y = 23,y = 1,z = 0. If

the cross sections of the solid perpendicular to the z-axis are squares, then the
volume of the solid is equal to
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17. Let S be the solid formed by revolving the region bounded by the curves
y=+/,y=0,z =1, and £ = 3 about the z-axis. If ¢ and d are two different
numbers in the interval [1, 3] that divide the solid S into three parts of equal volume,
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